Example 





Conditions :





Temperature 950(C	Time 30 minutes





Substrate doping 5  (cm	1x 1015 atom/cm3





Solid Solubility of Boron in 	Si at 950(C


					1.5 x 1020


					(D = 0.045µm/(hr


					D = 5.6 x 10-15 cm2/sec





Predeposition or constant source 


Question?	find the junction depth (xj) and The total dopant quantity (Q)
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Cs	=	Solid Solubility


1.5 x 1020 atom/cm3
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Find The Total Dopant Quantity (Q)
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Cs=1.5 x 1020 atom/cm3





Dt=5.6 x 1015 x 30 x 60





Q(t) = 5.38 x 1014 atoms/cm2





Note the units here, doping concentration is in atoms/cm3, dopant quantity or dose is in atoms/cm2


�



Second Phase :





Constant Total Dopant - Drive In





Dopant quantity (S) is the Q from previous phase





Conditions





Temperatuare	=1100(C





Time		=60 minutes





(D		=0.27µm/(hr
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Find the junction depth (xj) and the surface concentration (Cs)
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Cs	=	1.12 x 1019 atoms/cm3 	Surface Conc.
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x=1.65µm 	Junction Depth


